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LIFE SCIENCES
- _ PAPER - II
Note :This paper contains FIFTY (50) multiple-choice/assertion/reasoning
questions/matching questions. Each question carries TWO (2) marks.
Attempt All the questions.

1. In bactetial proteih synthesis the initiating afnino acid is :
(A) N-formyle methionine (B) Methionine
(©)  Glutamic acid (D) Castein

2. The Lineweaver-Burk plot is used to graphically determine K, and V., of

enzymes that obey classic Michealis-Menten kinetics.

When V is the reaction velocity at substrated concentration S, the Y axis

experime.ntal data in the Lineweaver-Burk plot are expreésed as:
@ v E . ® S
| cy W D)y 1/8
3. The solution of acetic buffer with pH 4.00 is how n_iany times stronger than
tﬁe_ same buffer with pH 6.
A 2 | B 100
() 1000 ™ 10
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4. | Peroxisomes are surrounded by :
(A) Double membrane
(B)  Cell wall
(C) Single membrane
(D) Both cell wall and membrane

5. The operator gene of Lac-operon is ‘turned on’ when lactose molecule binds

to :
(A) Operator gene (B) Repressor gene
(C) Promoter gene D) m-RNA

6. The membrane enclosing the main vacuole by the cell is called as :

(A) Tonoplast (B) Amyloplast
(C) Chloroplast : (D}  Elaioplast
7.  Which of the following has no DNA ?

(A) Nucleoplasm - (B Chloroplast

(C) Mitochondria . | (D)  Golgi apparatus -

Life Sci.—II _ : | 4



10.

11.

The operon system contains :

(A) A linear sequence of genes

(B) A linear sequence of g_enes and adjacent DNA s’equences.
(C) Onl.y promiotor

(D) Only operator

Disulphide bonds which act in the atomic staples to reinforce the conformation

of proteins are formed in :
(A) Cytosol . (B) Endoplasmic reticulum
(C) Lysosome =~ (D) Golgi appratus

The terms cistron, muton and recon were coined by :

) (A) Jenues (B) Carlson

" (C) Benzer | (D) Bateson -

What is common point of similarity between DNA and RNA ?

(A) both are double standard

(B) both have identical sugar molecules
(C) both are polymers of nucleotides

(D) . both have identical pyrimidine bases -
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12. Genes concerned with the production of cancer is called :
(A) Carcinogen | (B) Cancer gene
(C) Oncogene : (D) Carcinoma
13. Which of the subclasses of antibodies are f_ound in blood serum and secretions ?
(A) IgGl, IgG4 ' (B) IgG2, IgG3
(C) IgAl, IgA2 D) IgGl, IgG3
14, Interferoné:
(A) activate p-cells to make virus specific antibodies
(B) | inhibit virus replication by infected cells
(C} are Thy cytokines
(D) are vil;us proteins that interfere _with.activation of cytotoxic T-cells
15. Most antibodies are synthesized by the :
(A) Céntral lymphoid organs
(B) Primary lymphoid organs
(C) Macropages
(1) Peripheral lymphoid organs
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16.

17.

18.

19.

'The embryonic stage in the frog in which differentiation of mesoderm takes

plage, is called as :

t-A) Blastula i | (B) .Gastrulla

(C) Morula | (D) Nerula

The chief component of exine of a mature pollen grgin is :

(A). celiulose - o (B)  Lipid

(C) Suberin : (D). Sporopollenin

A mesolecithal egg undergoes holoblastic cleavage, is represented .in :
(A) Bird-é y | . (B) Ampbhioxus

(C) Amphibians | (D) Echinoderms

Temperature dependent sex determination (TSD) is frequently observed in one

of the following chordates
(A) Cephalochordates - (B) Fishes

(C)  Crocodilians o  (© Birds
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20. Which one of the plé.nt_hormone is known as stress hormone ?

(A) ' Gibberellins . (B) Kinetins

(C) Auxin - (D) Abscisic acid
21. Function of water in the photosynthesis is to :

" (A) transport H* ions in the iight independent reactions

(B) Supply electrons i-n the light ;:lependent reacti(lms

(C) Absorb light energy |

(D)  Provide Oy for. lighf indep_endent reactions

22. Which one of the following is wrongly paired :

(A) Manganese - Structural .compone.nt of chlorophyll
- (B) Irom — Component of ferredoxin.

(C) Zine | — Enzyme activator

(D) Calcium -~ Component of middle lamellae

23. The water in the xylem vessels moves towards the top of a tree as a result

of :

(A) atmospheric‘ pressure of roots

(B) active tranéport of ions into the vascular bundles
(C) evaporation of water through stomata |
(D)_ the force of root pressure
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24,

25.

26.

27.

28.

The digestion of fat in chordates is facilitated by the pfesence of : -
(A) JIodine e (B) Glucosé

(C) Bile salts | | | (D) Ptyline

The sinus venosus in mammalian heart 1s fused wi-th :

(A). Left atrium | (B) Left ventricle

(€) Righf atrium | D) Right ventricle

The Goitre is linked to :.

"(A) Pituitary gland "~ (B) Thyroid gland

'.(C) Adrenal gland .(D) Pancreas

One of the following animals possesses ‘nerve net’ for coordination :

(A) Sycon _ (B) Jelly fish

(C) Earthworm (D) Prawn

Bacterial process in which genetic material is carried by some external agency

is called :

(A) Translation \ (B) Tr_ansformation
(C) Transduction ' (D) Conjugation
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29. Cytoplasmic inheritance through Kappa particles is observed in :
(A) Amoeba | (B Pdramaécium
(C) Sycon (D) Earthworm |
30. In Drosophila melanogaster, sex is determined by :
(A) X and Y chromosomes
(B) X/A ratio
(C) Ploidy
D) Z and W chromosomes

31. .The genetic defect Thalassemia results from partial or total absence of one or

more :
(A)  Only a-chain of haemoglobin
(B  Only B-cha.in of haemoglbbin
(C) o and B-chains of haemoglobin
(D} vy and B-chains of héemoglobin
32. Plant viruses mostly are named from :
(A)  The disease morphology, they produce
(B) Their protein coat
(C) Nature of DNA

(D) Habitat
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33. A species facing an extremely high risk of extinction in the immediate future

is called :
(A) Endemic - | (B) Endangered
(C) Threatened - (D)  Vulnerable

34. Which one of the following is mismatched ?

(A) Apical meristem — root apex
(B)I Intercalary meristem — internpde
(C) Lateral meristem — Cork carﬁbium
(D) Dead mechanical tissue — Sclerenchyma

35. Which one. of the following étatements is not correct ?
(A In bryophyte's, ga’métophyte is freéliving and dominant
(B) In pteridophytes the gametophyte is free living and remain for a short
period
() In Gymnosperms, -geﬁerally the antheridium 1s absent.

(D) Gymnosperrhs are homosporous
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36. The phylogenetic system of classification of plants refers to their grouping based

on the :
(A) Mor-phologicall characters
_' (B) Increasing complexities
(Cj Evolutionary affinities
(D) Floral similarities
37. Diatoﬁs do not readily decay like most other algae because they have :
(A)  Outer lining of Inon-living cells
(B)  Cell walls made of silica
(C) Cell walls made of chitin
(D)  Mucilaginous cell walls
38. Ramsar Coni%ention on wetlands was adopted m :._
(A) 1987 | . ® 1981
© 1971 o @ 1961

39. When a forest is destroyed by fire and again occupied by herbs in the initial

stage, is an example of :
(A) Primary succession
(B) Secondary succession
(C) Autogenic succession

(D) Climax stage
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40. Quantities of mineral nutrients in the soil of tropica.l rain forests are relatively

low because :

(A) Leaf fall occurs at a slow rate

(B) diversity of microofgénisms is very low

(C) nutrient cycling oceurs comparativeiy at slow .rate

(D)  decomposition of organic matter and re-assimilation of chemicals by plants

oceurs rapidly

41. Halophytes such as mangroves meet high osmotic pressure in the soil. They

overcome the problem .of water uptake by :

(A)_ Accumulétion'of electrolytes in the vacuoles

(B) Increase in the root to shoot ratio

(C) grow at relatively high humidity to reduce transpiration
D) réductioﬁ in ti1e nﬁmber of stomata to reduce transpiration

42. The population genetics shows how genetic viration is retained in Mendelian
inheritance. It was proposed by :
(A) Hardy Weinberg - (B) Darwin

(C) Wallace : (D) Mendel
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43.

44,

45.

-46.

The catalogue of behaviour of animals is called as :
(A) Myogram (B) Echogram
(C) Ethogram (D) Cardiogram

Which one ‘of the foll_dwing determines the branching pattern of evolution :

(A) Phylogentics . | - (B) _Phenetics

(C)  Polymorphism | D)  Cladistics
Geologically_one‘ of the following eras is known as “Age of Mammals” ?
(A) = Phenerozoic - (B)  Palaeozoic
(C) Cenozoic | _ - _ (b) N.Ie.sozoic
Somaclonal variations in crops can be generated with the help of :

(A) Tissue culture |

| (B} R-DNA technology

(C} Chemical mutagens

(D) Gamma-rays
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47. Bt gene coding Bt toxins derived from Bacillus thuringiensis is used for plants

48.

49.

50.

to protect from :

(A) Nematodes | (B) Annelids

(C) Mollusces " (D) Insects

Which one of the following ..is a potential petro-crop ?

(A) Litsea polyanthra | ' N (BY Magnolia sph’emcarpa
(C) Symplocus grandiﬂora : (D) Jatropha curcas
Triticale, the hybfid whéat is .

(A) Tetraploid. ‘ (B) Allotetrapbid

(©) * Autotetraploid _ D .Diploid.

Rapid analysis of thoUsands of genes- can be done by :

(A) DNA .mjcroarray

By PCR

{C) Northern Blotting

(D) Western Blotting

Life Sci.—II - 15 ' [P.T.O.]



ROUGH WORK
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